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QUESTION 1

During its circulation throughout the body, blood from the left ventricle then goes to which of these locations?
A. left atrium

B. right atrium

C. aorta

D. pulmonary artery

Correct Answer: C

QUESTION 2

The number of atoms in a molecule of CuS()4 51 his

A. 15

B. 18

C.21

D. 29

Correct Answer: C

Explanation:

The hydrate CuS()4 51U contains 6 atoms in the salt C11S04 (ICu + IS + 40). The five loosely bonded

water molecules contain 15 atoms (10H + 5()). The total number of atoms is 6 + 15 = 21.

QUESTION 3

What\\'s the only metallic element commonly found as a liquid?
A. bromine

B. tellurium

C. mercury

D. silver

Correct Answer: C
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QUESTION 4

Given that a kilogram is 2.2 pounds, what is the approximate weight of a person weighing 137 pounds expressed in
kilograms?

A. 93 kg
B. 74 kg
C. 301 kg
D. 62 kg

Correct Answer: D

QUESTION 5

On a Celsius thermometer, how many degrees are there between the boiling point of water and the freezing point of
water?

A. 212 degrees

B. 100 degrees

C. 180 degrees

D. 32 degrees
Correct Answer: B
Explanation:

In Celsius, the boiling point of water is 100 degrees and the freezing point of water is 0 degrees.
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